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SUBROUTINE BILINR(RmY,Ycv,stn,iye,ive,rmd,stnun)

IMPLICIT REAL*8(A-H,0-2)

c
c Rmy O00oO0ooon
c Ycv ogoooo
c stn oooooooao
c iye O00oO0oooon
c ive Oo0O0ooooan
c
c jye O00oO0oooon
c rmd Oo0O0o0oooon
c stnun goooonon
c
RM1 = 1.d0-1.d-8 Ooo0o0ooooan
RM2 = RmY
STNY = Ycv
c
IF(C 1YE.EQ.O ) THEN
IF( IVE.GT.0.AND.STN.GE.STNY ) THEN
Jye= 1
rmd = RM2
ELSE IF( IVE.LT.O.AND.STN.LE.-STNY ) THEN
Jye = -1
rmd = RM2
ELSE
Jye = iye
rmd = RM1
END IF
C

ELSE IF( IYE.EQ.1 ) THEN
IF( IVE.LT.0 ) THEN

stnun = STN
Jye =2

rmd = RM1
ELSE
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jye = iye
rmd = RM2
END IF

ELSE IF( IYE.EQ.-1 ) THEN
IF( IVE.GT.0 ) THEN

stnun = STN
Jye = -2
rmd = RM1
ELSE
Jye = iye
rmd = RM2
END IF

ELSE IF( IYE.EQ.2 ) THEN

ST1 = stnun

ST2 = ST1-2.DO*STNY

IF( IVE.GT.0.AND_.STN.GE.ST1 ) THEN

jye =1

rmd = RM2
ELSE IF( IVE.LT.0.AND.STN.LE.ST2 ) THEN
Jye = -

rmd = RM2
ELSE

Jye = iye

rmd = RM1
END IF

ELSE IF( IYE.EQ.-2 ) THEN

ST1 = stnun

ST2 = ST1 + 2.DO*STNY

IF( IVE.GT.0.AND.STN.GE.ST2 ) THEN

jye =1
rmd = RM2
ELSE IF( IVE.LT.O.AND.STN.LE.ST1 ) THEN
Jye = -1
rmd = RM2
ELSE
Jye = iye
rmd = RM1
END IF
END IF
iye = jye
RETURN
END
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